NAME: Date: Grade:

(From Grade Calculation on last page)
Lesson 04
w Practice Drill 2 e

SoTrandate (18 answers):
T® 60PPAT® 0 Xp1oTog £6180.6KE TO EVAYYEALOV THG AYATNG KO £1pNVNG OO ToD O£0D 1@ Ao@ T LUV YWY
. 01 pontol 0vTod Noav EKEL Kal AKof TKOVOV aOTOV.

< Parse (18 answer 9):
® cofPatw (7 answers): 2 - Loc ( ) - N - S - capportov, 10 -

0 Xpiotog (7 answers): Proper Name - Nom ( ) - M-S - Xprotdg, 0 -

€d1daoke (8 answers): Impf (Desc) - Act - Ind - 3 - S - 81ddokw -

® Ao® (7 answers): 2 - Dat ( )-M-S-Aadg, 0 -

10 evayyélov (7 answers): 2 - Acc (Dir Obj) - N - S - gvoyyéAov, 10 -

i aydnng (7 answers): 1 - Gen (Desc) - F - S - aydmnn, n -

kat: coordinate conjunction linking two nouns - and

elpnvng (7 answers): 1 - Gen (Desc) - F - S - gipivn, 1 -

i ouvayoyn (7 answers): 1 - Loc (Place) - F - S - cuvaymyn, 1 -

kal: Coordinate conjunction introducing an independent clause - and

ol uodntat (7 answers): 1 - Nom (Subj) - M - P - pa®ntng, o -

avtod (10 answers): Pers Pron - Gen ( ) -M-S - av16g, -1, -0 -

noav (7 answers): Impf (Desc) - Ind - 3 - P - gipi -

akof} fkovov (8 answers): Impf (Desc) - Act - Ind - 3 - P - dxovo -

ovtov (10 answers): Pers Pron - Acc ( )-M-S - 0vto¢, -1, -0 -
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b Decline:
The singular and plural forms of evoyyéAov, 16 (8 answers):
Singular: Plural:
Nom
Gen/Abla
Dat/Ins/Loc
Acc
<%*Conjugate:
Imperfect - Indicative Forms of eyt (6 answers):
Person:  Singular Plural
1
2
3
********************GRADE CALCULATION********************
Number of Errors . Total Pts. 100. 00
M ssed accents and breat hing marks
= 1/4 error per word M nus Pts.
Ti nes 2.00 M ssed
Total Pts. M ssed : G ade

(Pl ease record grade at top of page 1)



